e = Yavan = /5 Sk
MR 25 2024 (BSFI6HEEE) TR
H 2024%4H 1H
= 202543 H31H
1. BIRAZHTFHEE HA7: [
1z A
i . X H
ROEE THEE | ROEETHEE | ROFEE THEZE | ROFEE THEE
— i 43,233,100 40,747,000 43,233,100 40,747,000
el 25t 15,605,000 9,405,000 15,605,000 9,405,000
— 2 58,838,100 50,152,000 58,838,100 50,152,000
RIS F O NER A
I A = H
" H
ROEETHZE | ROEIETHREE | ROFEETHEEE | ROEE THEE
[E A R—Y KRR E 6,083,000 6,083,000 6,083,000 6,083,000
Wit n) _EAHBh 3,172,000 3,322,000 3,172,000 3,322,000
WHARTHERS 6,350,000 0 6,350,000 0
& 2 15,605,000 9,405,000 15,605,000 9,405,000
I L4
BRGEERESER (FE) 1,200,000
B RNGAEE E JL BN 4 3,500,000
BRGEE RESER (FE) 4,700,000
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TANAKA masazumi
ハイライト

TANAKA masazumi
ハイライト

TANAKA masazumi
四角形


2. —BREFNRXFESE
(XA DHER) BN [
Ed B E| R6EFE T HAH | ROEE T R4 7= 5| # o M
1. BERSBEIUA 19,429,100 16,578,000 2,851,100 S R (24X—2)
1. FIRERER 3,188,000 3,383,000 A 195,000
1. fEE 1,140,000 1,305,000 A 165,000
2. P 30,000 36,000 A 6,000
3. A iAaE 738,000 762,000 A 24,000
4. iR 1,230,000 1,230,000 0
5. L7 4 — Xl 50,000 50,000 0
2. REREHE 16,241,100 13,195,000 3,046,100
1. BARHER 10,674,000 12,165,000 A 1,491,000
2. WL 5,567,100 1,030,000 4,537,100
2. I 18,264,000 17,252,000 1,012,000
1. K&k 9,064,000 8,152,000 912,000)3fEZ IR (252—27)
2. FFHIBIRIA 8,900,000 8,850,000 50,000
1. EESSIE 300,000 400,000 A 100,000
2. WREE 7,800,000 7,800,000 0
3. N RT w7 800,000 650,000 150,000
3. Bk BEARIXA 300,000 250,000 50, 000
1. 3Rk 300,000 250,000 50, 000
3. BUIREINA 900,000 900,000 0
1. EBEBEIUA 900,000 900,000 0
4. BN 2,940,000 3,317,000 A 3T7,00005#ES MR (265—2)
1. HAHY 2,900,000 3,277,000 A 377,000
2. REFENTLEEAR 40,000 40,000 0
5. HEILA 500,000 500,000 0
ODEDF » I A KR
1. HMENCA 500,000 500,000 o, It el GRESBES
By
6. M4 1,200,000 1,200,000 0
1. ks 1,200,000 1,200,000 O | Fifi 47 B i <
7. FERIEEE BRI 0 1,000,000 A 1,000,000
L. RIS TR LA 0 1,000,000 A 1,000,000
= g 43,233,100 40,747,000 2,486,100




(ZH D) B
FAEd| H Re‘EEE TR | RotEEE TR el @ L
1. FEH 22,411,000 22,264,000 147,000
1. R&BtR#E 2,600,000 2,260,000 340,000
1. 2 ARE 1,200,000 1,060,000 140,000
2. RAKLF 4 —2AKATR 70,000 70,000 0
3. INEERTHE 280,000 280,000 0 ARASRELARRY
INFAERTFHERS
4. T 800,000 700,000 100,000 A TASRELRE
R [E A R TR R TR RS
5. BlTKk= 150,000 150,000 0
6. RHARBRFHERS 100,000 0 100,000|5#E SR (234—)
2. R&EZIE 3,850,000 3,489,000 361,000
1. R&shkt 3,850,000 3,489,000 361,000 BIHEZ R (27 —2)
3. R M H 3,300,000 3,550,000 A 250,000
3¢ A AE W A B 3
L ¥EEFE ., Hlk, R ek 5
G 2,250,000 2,450,000 A 200,000 .
TR EIHES R
3¢ A AE W A B 3
& HA/NFA RS @
2. /N - A MPBTTEITE BB R
SEKRIRER 000 00 | mrrmsnsra
PERR ISR =B IR =S
REVNEA RS
V7 T = AEMEER
3. FOMfREE K& 250,000 300,000 A 50,000|3% B AE B i Bh 33
ARAR—=Y <AL —RX
4. HH N B 4,761,000 4,950,000 A 189,000
RFEGRIA (BB o H1%)
1. BT 800,000 800,000 0% F A Wi Al By 2
B B R
2. EARBIRE . .
3,278,000 3,268,000 10,000 FrAl X FHg 4 (21 —27)
RERI 2 G 4
5 BB LD 683,000 882,000 A 199,000 5Bl 22 FHg H 4 (22%—2)
RERI 2 G 4
5. FHIBIRE 6,440,000 6,350,000 90,000
L FGHE = BR A 150,000 150,000 0
2. REE 5,500,000 5,500,000 0
3. N RT v 640,000 600,000 40,000
4. Z ORI ERE 150,000 100,000 50,000
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BANL : M

AE H RO‘EE T oA | RoEE ToA | £ 5 L
6. HATEREPARET 140,000 145,000 A 5,000
1. FRER 125,000 125,000 0
2. F OB R BRE 15,000 20,000 A 5,000
7. JRRIE B 150,000 350,000 A 200,000
L. RS Eh 150,000 350,000 A 200,000
8. KiH 1,170,000 1,170,000 0
1. REBESLER 320,000 320,000 0
2. FlERaRkwE 850,000 850,000 0
2. JnEd# 405,000 405,000 0
1. A 150,000 150,000 0
2. WHAGER 50,000 50,000 0
3. BAAGENR 70,000 70,000 0
4, BAR—IHe 135,000 135,000 0
3. RERERMERE 10,684,000 12,175,000] A 1,491,000
4 A @1,000 X 9004
B A @500 X 2,5304
1. B ASH YR ERR 10,674,000 12,165,000] A 1,491,000] %24 @500 X 15,7834
/NFAE @500 X 3514
M E @1,000 X 4424,
2. IBBBRFEBE 10,000 10,000 0
4. HEHE 5,934,500 5,618,500 316,000
1. EHRE 1,000,000 1,000,000 0
2. DinE 1,150,000 1,000,000 150,000
1. REESE 450,000 450,000 0
2. P 300,000 250,000 50,000
3. FOMSEE 400,000 300,000 100,000
3. —ARE A 1,760,000 1,530,000 230,000
1. fiHREM 2 250,000 200,000 50,000
2. Filz 400,000 300,000 100,000
3. {E R 330,000 380,000 A 50,000
4. Jicte 230,000 200,000 30,000
5. Mt 550,000 450,000 100,000
4. FEEEA 2,024,500 2,088,500 A 64,000 AR AEERED G
ik - V2 =T FHRK
1. sl 304,000 348,000 A 44,000]@4,000 < 76 {4
2. PR 30,000 34,000 A 4,000]@2,000x 124 +10,000
3. ERE 492,000 508,000 A 16,000 @4,000 < 123
4. A 1,168,500 1,168,500 0] @1,900 X 615 A&
. LT — 2 30,000 30,000 o|—#
5. Tk 298,600 284,500 14,100
1. T 298,600 284,500 14,100
6. FEBIFEAFE LA 3,500,000 0 3,500,000
1. FERIEAFENL 4 3,500,000 0 3,500,000
= 2t 43,233,100 40,747,000 2,486,100
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3. Fral=Et

(1) ERAR—=Y RBERERI SN TRE

(LA DER) BN 1

s H RO4EHE 540 | RO T R4 7= 51 % B i

I ey 100,000 100,000 O FiT4F B etk 4

2 [URig# 1,900,000 1,900,000 OV [E BE A 7R — 7 K2 URE i B

3 |Him 4 85,000 85,000 Of IR A 7R — > i — i B e 22 W 2 Al By

4 |14 260,000 270,000 A 10,000l R A R—Y KE&TFBREBINE

5 |anse 450,000 450,000 O & - mPAME - fFEDHNET

6 |HEA 10,000 10,000 O & ft &%

T | MERAE 3,278,000 3,268,000 10,000 — s G A4
& At 6,083,000 6,083,000 0

(ZHDEB) AL 1

B H ROEFEFHAE | RO T HAE 72 5| # G j

1|k # 50,000 50,000 O 84 ik 2

2 afE 10,000 10,000 O TR 58}

3 |&mt 60,000 60,000 T LA bEESHE

4 [F 2 10,000 10,000 o5l i SRt i S FI Il

5 | k&as e 53,000 53,000 o7 vy 7 « PR REHINE

6 |71k 1,130,000 1,130,000 ofpge i b BAtR

7 URig 4,000,000 4,000,000 Of 1 s K> URiE B tR 2

8 M % 550,000 550,000 O~ =7 4 — 5%

9 |2 s 220,000 220,000 O — A% fERE 2 Wik 2
5 G 6,083,000 6,083,000 0

(21)




(2) wiB 1A EAHBY F B R RS T R

(A DFER) BAT 1
B H R64F-E 7548 | RoAFHE T H4H 72 5l % Gl 3
1A R = W ish 4 2,200,000 2,100,000 100,000 =50k, ¥ = =7 #@fbAigh4:
2 |-t e 683,000 882,000 A 199,000 5% £ [FH 14 & 48 4
3 |BnEaHEe 289,000 340,000 A 51,0002 8. @EFEMaHse
& g 3,172,000 3,322,000 A 150,000
(G DFER) BA7 [
B H REAEFETHEE | ROEE TR 72 5l % Gl i
1|&# & 524,000 654,000 A 130,000045 525 3 4
2 e # 1,177,000 1,394,000 A 217,000 EE, @®FHFOELE, KEE
3 |EhE 693,000 532,000 161,00007HE68: (R —/148) | FNE
4 |13 10,000 5,000 5,000] 51 1%
5 |PRBRE 130,000 159,000 A 29,000| {5 PrIBRE
6 |FEAE R OV E R 223,000 273,000 A 50,000 = — b E AR
N 2,757,000 3,017,000 A\ 260,000 Uil Bl S48 2
7 | o 415,000 305,000 110,000] CHilergesniidy) B, SRmRE
& G 3,172,000 3,322,000 A 150,000




(3) WAKY 7 b7 = AEFHERDFHISFHIE TR E

(LA D) HAZ -
&) H RO4E T 548 B W
A AHEB MG (RSB AHB))
- BINEHEBNA 5,600, 0001 (4, 000[T] X 1400-27)
1 |wlighé: 6,200,000
- AAGEE M4 500, 000F]
» A= —JKEEE 100, 000H
2 |HERA 50,000\ K& 7 1 7T KREE
3 A 100,000 — it 2 G A4
= A 6,350,000
(ZH D) R A
&) H RO4F LT 548 G B
1 |HRfE 2 300,000|FIE (ER, b a7 ¢ —I13H B AGH L)
2 | # 1,800,000|% B157A (RE~R1204) | @ E
RIN HEESETIE - ¢ 1,300,000 R —/v, BT ¥V, #BF. T OMIHFEMLR
4 =B 500,000) % B 4R, AR
5 |FIRIRA 2 700,000) 7" 0125 2 EEFEETRIA
6 |mfEER 50,000 B A}, MR
7l 100,000) A 5z, A5
8 | AR OVE AR 1,400,000) == — b, &= AR
9 M % 200,000 1% B FRBEF, # DA
= & 6,350,000




B F# 20244 T 5L
s A
1. BTN (19,429,100/9) DR AT :
‘ RG4FEJE T8 ROAEJE T .
a8 H - — i B
e 4 KA e 4 HAE
AR SRR 76 1,140,000 87 1,305,000]@15,000
KRR GRE 10 30,000 12 36,000]@3,000
e A E [H A B ket 123 738,000 127 762,000]@6,000
H AR B [ AR ok} 615 1,230,000 615 1,230,000}@2,000
LT o — ARG FEA 50,000 4F%H 50,000
A Gk 51 3,188,000 3,383,000
. tha
= B ER k 900 900,000 950 950,000|@1,000
L J H A< 3E
e
I ) 900 900,000 950 950,000{@1,000
- J R
KA
I .. 140 70,000 160 80,000|@500
L ) [0
e N ﬁT*ﬁE
I ; 2,530 1,265,000 2,800 1,400,000|@500
L y H A< 3E
s N ?T’kﬁi
I - 2,530 1,265,000 0 0l@500
\ _J 7 ‘Hﬁm
( ) A
I i 15,783 7,891,500 18,000 9,000,000]@500
H A< 3E
\_ _/
t h A
I 15,783 3,156,600 0 0l@200
=81 42/2)
INERAE
I i 351 175,500 370 185,000]@500
L J H A E
INERAE
I . 351 175,500 0 0l@500
L ) RG]
( N g
I e 442 442,000 630 630,000{@1,000
L ) H A E
2 BBk H AE B & 10,674,000 12,165,000
2 BBk EHE R 5,567,100 1,030,000
2 B BGRE 16,241,100 13,195,000
& = 19,429,100 16,578,000
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TANAKA masazumi
四角形


2. RESMAIRA (9,064,000) DAER Bf: [
v s 4 RO T 5 R4 HE T4
| Sk & # | Sk & FH

1 | A—7 R 50 6,000 300,000 41 5,000 205,000
2 By v nakse 56 3,500 196,000 46 3,000 138,000
3IRI v ARS 15 4,000 60,000 19 3,000 57,000
4 EEFEH LR 240 4,000 960,000 214 3,000 642,000
5 [KEFB LR 200 4,000 800,000 206 3,000 618,000
6 |EFTF—LxPiRE 24 12,000 288,000 26 9,000 234,000
7 | EF— oS 12 12,000 144,000 12 9,000 108,000
8 |IR—RFHERS 200 4,000 800,000 210 3,000 630,000
9 |BARKRERTEE 180 6,000 1,080,000 180 6,000 1,080,000
10 PR A AR FHERS 120 6,000 720,000 100 7,000 700,000
11 2 AR R 80 6,000 480,000 84 6,000 504,000
12 | B ARRSRTPES 60 6,000 360,000 43 6,000 258,000
13 |EEM R R T ES 6 30,000 180,000 6 30,000 180,000
14 | BGE FHE R R 296 1,000 296,000 296 1,000 296,000
15 |[E A RADET R 160 500 80,000 170 500 85,000
16 |E A RS R T 50 2,000 100,000 39 2,000 78,000
17 Eigé“@ﬁ@‘% 18 6,000 108,000 18 6,000 108,000
18 | A% T R AR 64 3,000 192,000 64 3,000 192,000
19|sTy—7m (BsEERMY —2) 6 20,000 120,000 6 21,000 126,000
20/ EHARY 7 7RFHERS 20 20,000 400,000 20 21,000 420,000
21 |BEAAR Y =T RTHERS 70 6,000 420,000 51 7,000 357,000
2 |HARAR—Y <AL —X 8 4,000 32,000 5 4,000 20,000
23| =T 7 = A K 16 6,000 96,000 16 6,000 96,000
24 | & A/ NEARTHERS 2 10,000 20,000 2 10,000 20,000
25 | R/ NVEAERTHERS 280 1,000 280,000] 341 1,000 341,000
26 |#RET I A B AR AR 2 10,000 20,000 2 10,000 20,000
27 VRV FA RS 20 2,000 40,000 20 2,000 40,000
28 |S TV =71 (RAEERY —2) 2 30,000 60,000 2 30,000 60,000
9|Va=TVx X0y 1 2,000 2,000 1 2,000 2,000
30 PR R= 140 1,500 210,000 130 1,500 195,000
SL|EARY v 7 2 RTi@e 40 2,000 80,000 34 4,000 136,000
32 |Bs s v /L R EFHERS 8 5,000 40,000 12 5,000 60,000
33 |eRA vy AFT L AETH 10 6,000 60,000 13 7,000 91,000
34 |BRAY VSN RBRFHERS 8 5,000 40,000 7 5,000 35,000

= it 9,064,000 8,152,000
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3. fifiBh &I A (2,940,000/9) DHNER

BEAI: M

- . R TH RO T 5L

N R & # N R & H

AARY 7 hr =2l |PFEREFHERS 30,000) PRI FHER 30,000
I INFAERTFHERS 30,0001/ N FHER 2 30,000

Z ik 7 7 E Rk 270,000| 13k 7 Z 7 H ik 317,000

Z Va =T ERR 1,792,000} = =7 Bk 2,055,000

Z AR NFERR B 100,000 4= A A/ NFA AL w@ 167,000

4 A A e 400,000) B H: # B e e 400,000

i HAAR—Y < A H—R 150,000 H KA R—Y <= A2 & —X 150,000

4 A BNk R 100,000 2 477 HEAN%F 5K 100,000

4 fRgEHE S L wm % 28,000)fFE A WHE = A28 28,000
REFNTEES BEVNFAERS 20,0000 2= [E/ N R 20,000
4 FBE TR AR RS 20,000 B8 F P H 72 A2 K2 20,000

= 7 2,940,000 3,317,000
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X th
1.

RESMMXZH (3,850,000M) DHER HAL [
KX & RE6GEE T H REAEJE T H
sl Sk Bl ] Skt 4

B A—7 ke 50 6,000 300,000 41 4,000 164,000
FARURFHER S 160 6,000 960,000} 160 6,000 960,000
WHAAREFHERS 120 6,000 720,000] 100 6,000 600,000
FEMIEFHERS 4 30,000 120,000 4 30,000 120,000
AR NEFHERS 50 6,000 300,000 50 6,000 300,000
EARERFHERS 10 6,000 60,000 6 6,000 36,000
B L ¢ — AR TFHEAR 18 6,000 108,000 18 6,000 108,000
STVU—7M (BREEMY —2) 6 20,000 120,000 6 20,000 120,000
EHRY T TRTFHERS 20 20,000 400,000 20 20,000 400,000
ARE ST A B AR A 2 10,000 20,000 2 10,000 20,000
BHARY VT IVAKRE 8 5,000 40,000 7 5,000 35,000
EHARY =T RFHERS 70 6,000 420,000 51 6,000 306,000
AAAR—Y v AZ—R 1 60,000 60,000 1 60,000 60,000
EE/NFAERS 20 2,000 40,000 20 2,000 40,000
DA NFERFHERS 2 10,000 20,000 2 10,000 20,000
STVU—71 (AAEEMY—2) 2 30,000 60,000 2 30,000 60,000
VamT VxR 1 2,000 2,000 1 2,000 2,000
B Y 7 VAR 8 5,000 40,000 12 5,000 60,000
BHARI v I AKX T VARTHE 10 6,000 60,000 13 6,000 78,000
= Gl 3,850,000 3,489,000
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